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15-24	1. At 4,000 machine hours, budgeted variable overhead = $84,000; budgeted fixed overhead = $65,500; at 5,000 machine hours, budgeted variable overhead = $105,000; budgeted fixed overhead = $65,500. 2. Estimated variable overhead cost rate = $21.00 per machine hour. 
15-25	1. Total overhead variance = $16,660U; Total flexible-budget variance = $6,160U; Production Volume Variance = $10,500U. 
15-26	No check figure. 
15-27	No check figure. 
15-28	1. $30,000. 2. Spending variance, equipment depreciation = $2,000F. 3. Production Volume Variance = $3,000U. 
15-29	1. Standard fixed factory overhead rate = $1.90/machine hour. 2. 3,750 machine hours. 3. Total Flexible-Budget Variance = $12,075U; Production Volume Variance = $285U. 
15-30	No check figure. 
15-31	1. Variable overhead spending variance = $600F; Variable overhead efficiency variance = $1,800U; Total flexible budget variance, variable overhead = $1,200U. 
15-32	1. Spending variance = $2,000U; production volume variance = $3,600U   2. Fixed overhead spending variance = $2,000U.
15-33	1. Total overhead spending variance = $1,400U; overhead efficiency variance = $1,800U; production volume variance = $3,600U. 2. Total overhead spending variance = $1,400U; total overhead efficiency variance = $1,800U; production volume variance = $3,600U
15-34	1. Total flexible budget (controllable) variance = $3,200U; production volume variance = $3,600U     2. Flexible budget variance = $3,200U; production volume variance = $3,600U 
15-35	1. Variable overhead spending variance = $3,100U. 2. Variable overhead efficiency variance = $1,200U. 3. Fixed overhead spending variance = $400U.  4. Production Volume Variance = $1,260U. 5. Total overhead spending variance = $3,500U. 6. Overhead controllable variance = $4,700U. 
15-36	1. Budgeted fixed overhead = $236,250. 2. Variable rate = $2.8824/machine hour (rounded to four decimal places); fixed overhead rate = $10.50/machine hour. 3. Total flexible budget for factory overhead = $299,662. 4. Variable overhead spending variance = $4,118U; Variable overhead efficiency variance = $2,882U; Fixed overhead spending variance = $5,000U; Production Volume Variance = $5,250. 5. Total overhead flexible budget variance = $12,000U; Production Volume Variance = $5,250U. 
15-37	1. $7.50/machine hour. 2. Total Flexible Budget for Overhead = $612,000. 3. Production Volume Variance = $18,000F. 4. Total overhead spending variance = $10,000U. 5. Overhead efficiency variance = $3,000U. 6. Variable overhead spending variance = $5,000F; Fixed overhead spending (budget) variance = $15,000F; Production Volume Variance = $18,000F. 
15-38	1. Total overhead spending variance = $24,200U; Total Overhead Efficiency Variance = $23,800U. 2. Total overhead spending variance = $32,200U; Total overhead efficiency variance = $19,800U. 3. Total overhead spending variance = $14,000U; Total overhead efficiency variance = $38,000U.  
15-39	1. Budgeted cost per unit, S-101= $7.1535; C-110 = $10.11.61. 2. Allocated overhead costs: S-101 = $6.6917; C-110 = $9.3135. 
15-40	1. $2,150. 2. E(Investigate) = $2,150; E(Don’t Investigate) = $7,000. 3. Indifference probability = 4.96%. 
15-41	No check figures
15-42	1. Revised fixed overhead application rate per machine hour = $3.60; revised operating income = ($744,000); change in operating income = $8,856,000. 
15-43	1. $64,167U (Theoretical Capacity); $32,407U (Practical Capacity); $7,000U (Normal Capacity); $7,292F (Budgeted Capacity). 2 Ending finished goods inventory: $62,688 (Theoretical Capacity); $64,632 (Practical Capacity); $66,188 (Normal Capacity); $67,063 (Budgeted Capacity). 3. Operating income: $47,888 (Theoretical Capacity); $49,832 (Practical Capacity); $51,388 (Normal Capacity); $52,263 (Budgeted Capacity).  
15-44	No check figure. 
15-45	No check figure.    
15-46	No check figure.      
15-47	1a. 396,000; 1b. $33,000U; 1c. $22,000U; 1d. $25,000F; 1e. $594,000; 1f. $6,000U. 
15-48	1. Direct materials price variance prorated to finished goods ending inventory = $1,794. 2. Amount of direct materials in ending finished goods inventory after proration = $85,732. 3. Amount of DL in finished goods inventory, after proration of all variances = $132,750. 4. Total Cost of Goods Sold, after proration of all variances = $1,681,678. 
15-49	1a. Variable Overhead Spending Variance = $6,000F; 1b. Variable Overhead Efficiency Variance = $9,000U; 1c. Fixed Overhead Spending Variance = $10,000U; 1d. Production Volume Variance = $10,000F; 1e. Manufacturing overhead: $3,000 underapplied. 
15-50	No check figure. 
15-51	1. Cost-Driver Rates: $100 per customer order; $250 per customer complaint; $200 per credit check conducted. 2. Cost assigned to activities: Handling Customer Orders, $640,000; Processing Complaints, $100,000; Conducting Credit Checks, $100,000; Cost of Unused Capacity: Handling Customer Orders, $160,000; Processing Complaints, $20,000; Conducting Credit Checks, $0. 
15-52	3. Cost of Unused Capacity = $112,000; % Capacity Utilization (Order-Handling Activity), 80.00%. 4. Order-Handling Cost, after the TQM initiative = $40.00; cost of unused capacity, after TQM implementation = $240,000; capacity utilization after TQM initiative = 57.14%.
15-53	1. Budgeted overhead application rates: variable overhead = $2,000/letter of credit (given) + 1% of the amount of credit issued; fixed overhead = $1,120/letter of credit issued. 2a. Total Overhead Controllable (Flexible-Budget) Variance = $32,000U; 2b. Overhead volume variance = $56,000U.
15-54	1a. Fixed overhead spending variance = $1,000U; production volume variance = $2,000U. 2a. Variable setup-related spending variance = $191.25F; 2b. Variable setup-related overhead efficiency variance = $945U. 

15-55	1. E(Advertising) = $13,800,000; E(No Advertising) = $12,400,000. 2. Indifference probability = 16.67%. 3. EVPI = $600,000. 

15-56	1. Payoffs: Investigate an in-control process = $20,000; Investigate an out-of-control process = $80,000. 2. E(Conducting an Investigation) = $35,000; E(Not Conducting an Investigation) = $60,000. 3. EVPI = $15,000.
15-57	2. Direct Labor Rate (Price) Variance = $280. 3. Direct Labor Efficiency Variance = $1,400. 4. Direct Materials Purchase Price Variance = $220U. 5. Direct Materials Usage (Quantity) Variance. 6. Variable Overhead Spending Variance = $1,800U. 7. Variable Overhead Efficiency Variance = $600U. 8. Fixed Overhead Budget (Spending) Variance = $800U. 9. Fixed Overhead Production Volume Variance = $1,600U. 
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